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Sequences & Nth Term Knowledge Organiser
Square Numbers Square Roots Cube Numbers Sequences & Nth Term
1x1=1 Vi=1 1x1x1=1
2x2=4 Ya=2 2x2x2=8 e b
}:1 ll_‘_.,"; f 3,.\.1 TErm \ ﬁ\x + B

3x3=9 Vo=3 3x3x3=27 e goes on forever

4x4=16 216 = 4 4x4x4=64

5x5=25 V25=5 5x5x5=125 __.f IIIII Example ---.R__\.- ,.f'f" Your turn... hhi""-,

©  Find the nth term rule: Find the nth term rule:
6x6=36 Vie=6 Cube Roots 8 10 12 14 7 M 15 19
L L S NN
7x7=49 229 =7 Vi=1 242 42 +4  +4  +4
. a=2 2+h=8 a=4 A+ b=7

8 x 8 = 64 et =8 Ve =2 b6 b3

9x9 =81 28] = g Y27 =3 nthterm=2n+6 7 %\  nthterm=4n+3  /
10 x 10 = 100 21100 = 10 Vo4 =1
11x 11 = 121 25T = 11 V125 =5 FIBONACCI|I SEQUENCE

A series of numbers, starting from O where every number is

12 x 12 = 144 214d ) the sum of the two numbers preceding it

x12= 144 =1

0,1,1,2,3,5,8,13,21,34,55.... and so on
L
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Expanding & Factorising Knowledge Organiser
Key Words Expanding Double Brackets Factorising Double Brackets
Expanding (x#2)(x+3) (z+3)(x-7) | Factorise x2+ 7x+ 10
T, — _-H\‘\
{z@ +3) (@—?) We need to find two numbers that multiply
Factorising — b —— to give 10 and add to give 7. List the
= £ LI;E% : . J;:F—';L;Si? N factors of 10:
= U S+ = r_dor - -
Expanding &
Factorising Single . ¥ W 1x10
. x-1)({x-3
Brackets (s25) [ )t__l 5x2.(5+2 =7)
Y ‘ x- z-1
| Expand 2(x + 1]|| E?{;‘?@E[;@ C 1}—.‘_ ) | Answer = (x + 2)(x + 5) |
| =2x+2 - xETARE) 6 - x*3 T2
= 2liBe 41l = rri_'c’l*‘ll
| Expand 3(2x - 4)
=6x-12 | Find the area | |FﬂEtDl'iE)fz+2x—E
| Expand 4x(2x - 5) ¢ We need to find two numbers that multiply
— 8x2_ 20x | ' to give -8 and add to give 2. List the factors
™ o find the area of 3 of -8:
| Factorise 6x + 12 Ax + 3 rectangle we need
= 6(x + 2) | X+ to multiply 1x-8
-1x8
| Factorise x2 + 3x {"-lt.ﬂ)(::-‘.'l:_l Zx-4
= 3 it !-')HH:J.J 4x-2..(4+-2=2)
= x(x + 3) ( +3)(x
Factorise 30x + 40 - 4= T ¢ [Ansveer=Gcr)x2) ]
- 100x+4) | = 4”3z
e
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Inequalities Knowledge Organiser
Key Words Solving Harder Equations Inequalities
equation Solve 21- 7 Solve E +1=6 | On a number line |
3
solve x3 X3 -1 -1 An open circle means that A filled in circle means that
Ix+1=21 g 5 the value is not included: the value is included:
ir‘Equaliti,Es _1 _1 14 4 x4 ¥ = 2 | | xis greater than 2 |=rlrr-hrlﬁn-lrl|ldhll
- o0—>
2x=20 x =20 e bttt
solﬁngEquatims 7'2 7'2 e 1 2 3 4 B & T 8 @ 1 2 3 4 B & T 8
= [x
Solve 2x+1=7 x=10 X <5 | [xisless than 5
N ——— «—0
-1 -1 +—t—t—t—t—t—t—t
2}(:5 ¢ 1 2 3 4 B & T 8 @ 1 2 3 4 8B & T 8
=2 =2 Srulwng | |l..|ﬂlltlE5 If x is between two values, use two circles: [ g greater than
= 1 'l L 'l L ' L L labu" w
x=3 Solve inequalities the same way you would solve - - N L .;q.:;ﬁ:a .
Solve 2x+3 = x+6 a normal equation but remember to include the
-3 -3 inequality symbol in your answer. | R TEE e ] |
2x=x+3
Solve 3x+4 <7 Solve2x +4>x+9 Write down the integers
~ > olve X € 3,4,5,6,7
x=3 -4 -4 -4 -4 represented by 2<x <7
Ix=3 2x>x+5
Solve3x-2=x+6 =3 +3 -X -X Write down the integers 1234
+2 +2 xs1 X>3 represented by 1 <x<4 P
Ix=x+8
R Write down the inte
Ix =8 rite down the integers 5,6,7,8
-2 +2 represented by4 <x<9
x=4
e
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Averages Knowledge Organiser

Key Words Mode Mean
mean The most common number The middle number, but remember to put the
numbers in order first!
Example:
mode
Find the mode of 2, 2,4,5,6 Example:
. Find the medianof 2,4,1,5,6
median The answer = 2
range Order them first: 1,2, 4,5, 6
The middle is 4

Median

Range

Add all of your numbers up and divide by how
many numbers you have.

Example:
Find the meanof 2,2,4,5, 6

2+2+4+5+6=19
19 +5
The answer = 3.8

The biggest number - the
smallest number
Example:

Find the range of 2,
2,4,5,6

6-2
The answer = 4

Example:
Find the medianof 3,7,1, 2,6, 8

Order them first: 1, 2, 3,6, 7, 8

The middle is half way between
3and 6

The answer = 4.5
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